8-5 Pre-Test Answers
1.  D

2. A

3. C

4. D

5. D

6. Enlarge

7. A’(-1,-1), B’(-1,-5), C’(2,-4)
2 points:  Exemplary response; reflected over correct axis and coordinates are correct.

1 point:  reflected over correct axis or coordinates are correct, but not both.

0 points:  neither reflection nor coordinates are correct.

8.  A’(-1,-1), B’(-5,-1), C’(-4,2)

2 points:  Exemplary response; coordinates are correct.
1 point:  Coordinates mostly correct.
0 points:  No coordinates are correct.
9.  A’(1,6), B’(1,10), C’(4,9)

2 points:  Exemplary response; coordinates are correct.

1 point:  Coordinates mostly correct.

0 points:  No coordinates are correct.

